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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1
A. Answer any 10 questions from 1 to 12. Each carries 1 score. (10 x 1 =10)
1. Which of the following was used by Mesopotamians in 3000 B.C. ?
(A) Pascaline (B) Abacus
(C) Hollerith’s Machine (D) MARK'1

2. The base of hexadecimal number system is
(A) 16 (B) 8
(C) 2 (D) 10

3. Which of the following is not an example for operating system ?
(A) Windows (B) Linux
(C) Android (D) Google

4. Pictorial representation of an Algorithm is called
(A) Algorithm (B) Flowchart
(C) Debugging (D) Execution

5. The fundamental Building blocks of a program are called
(A) Tokens (B) Character Set
(C) IDE (D) None of these

6.  Which of the following is the input operator in C++ ?
(A) ++ B) +=

<€ > D) ==

7. Name the control structure used to perform repeated execution of a set of statements

in C++,
(A) Decision making statements (B) Array
(C) Functions (D) Loop
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PART -1
1 2)®@8 12 QAO0W)88 aBO®&SIENe 10 GaloB160BUWEN DTMDo af)OI@)d>.
1 crpod ail@o. (10 x 1 =10)
®06¢ 205 OMIAleMAIXI@3 3000 enil.adl.@lo8 HaEIVIC|05021WOEe3
9a1¢UTl2lO)IM® aB@®o6N ?
(A) Pascaline (B) Abacus
(C) Hollerith’s Machine (D) MARK'1

Da0gy OWAVIA@G MMIAB AVIFLOTIOHAG EENIAY @RYETN
(A) 16 B) 8
C) 2 (D) 10

@069 ODOSIOVABNMAIVITS  Bacoglot)  AVIVETIM  OBIOOEMo
@R LJOTTN®) B ?

(A) Windows (B) Linux

(C) Android (D) Google

@R@ENIAOOONG 2 l(® ©)alR06m

(A) Algorithm (B) Flowchart

(C) Debugging (D) Execution

80} 61021603 @ISITVOOM CLISHEBOE ag)am aflgleeyam;.
(A) Tokens (B) Character Set

(C) IDE (D) None of these

©069 O30SO T E9MAIVIE3 C++ HEI HMBal)g 39a]|e0gd ag@osm ?
(A) ++ (B) +=
© > D) ==

C++ @ B0} Mo CINQOAWHUB GRHAIBTIa))  (IAIBTITIBHOMOW
Dal1cWOUlE)IN HEME(SOUB (NRH2]01ON] Gal@o6T.

(A) Decision making statements (B) Array
(C) Functions (D) Loop
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8.  The position of an element in an array can be accessed using
(A) Name (B) Subscript
(C) Data type (D) None of these

9. Name the function that accepts the character that is input through keyboard.
(A) strlen() (B) sqrt()
(C) getchar() (D) abs()

10.  Which of the following functions is an example of a Mathematical Function ?
(A) isdigit() (B) stremp()
(C) tolower() (D) sin()

11.  Which of the following is an example for guided medium (Wired) of communication ?
(A) Wifi (B) Bluetooth

(C) Infrared (D) Fiber Optical Cable

12.  Name the popular Mobile operating system from google.

(A) 10S (B) Windows
(C) Android (D) Blackberry OS
PART - 11
A. Answer any 8 questions from 13 to 23. Each carries 2 scores. (8x2=16)

13.  Name any two computing Machines used before 1900.

14. 14. Convert the following to binary :
(A) (36)

B) (16),
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8.  80)@reo Vlenss afelonadleng aunomo Da16WOUfla] BHOEMBGM0.
(A) Name (B) Subscript
(C) Data type (D) None of these

9. lemodw’  9a1coUila af)@B  O21QRIN  HPOPA  AV[l®ABH03
Dal1cWOUlE)IM aDB6HUEF GalIEM.

(A) strlen() (B) sqrt()
(C) getchar() (D) abs()

10. ®06¢ 62S)OTIGENMAIVIT  aB®IWN AOTDROFAOT  aDBHUD  BO)

9B2a0WM6Mo.
(A) isdigit() (B) stremp()
(C) tolower() (D) sin()

1. ©06¢ 6205 NAEOMAUDI@ BN OOV  (AUCRW)
@Ry UoAMI2® AW KABHIM DBIAODEMo.

(A) Wifi (B) Bluetooth
(C) Infrared (D) Fiber Optical Cable

12, muiglond Ianlevao® 69a|coglowy MlQuEIReng Galoosm.

(A) 10S (B) Windows
(C) Android (D) Blackberry OS
PART - 1I
A. 13 2)®@3 23 A190WBB aBOMEHIEN af)g GaloB0BUIEN DTMOo af)O}@)d>.
2 capod afloo. 8 x2=16)

13. 1900 ™ 2y (a12I00@WIERMeRlo)an  oaBO®BsIee @8] &MINSA
ODHIMD®:B)OS GalOOPI®) .

14, ©06% 605)00idlamMal HeenImolVleeles) 20Q)d.
(A) B06)y (B) (16)y,
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15. Name any two registers present inside the CPU.

16. Define the term Algorithm.

17.  What do you mean by Character set of C++ ?

18. Name the following operators used in C++.
(A) To store a value in memory location (variable)

(B) For incrementing the content of a variable by 1

19.  Write the syntax of a simple if statement.

20. Define the term Array Traversal.

21.  What does the following functions do ?

(A)  gets()

(B) Putchar()

22.  Name the following :

(A) Device which converts analog signals to digital signals and vice versa for

communication between computers using telephone lines.

(B) A device that regenerates electrical, wireless or optical signals through

communication medium.

23. List any two advantages of using E-mail.
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15.

16.

17.

18.

19.

20.

21.

22.

23.

CPU afled ersoslolclemmm «goo@slele  o06m)  0elquoidg)es

CalOOO)®)B.

@BR@IEUNIBI®o af)M alBo MF1BQY2 186>

C+t+ 0.l &POGO HAVY af)IMIGLIND) ?

©®96¢ 620S)TMIAB)AN C++ 30a]|C0Q0IDBIOS CalOO9) DD
(A) &0) 602201 HLIDCHNHMIG3 (cldlwmilsl@d) allel csggo«’i 6210003

(B) a0)caiclomilglond alleioes @)es 1 &)5008
830 Imildd if cqugeHAFlHag cLISM ag) 9D .

@GO (SOGQLYDI af)aM alBo MBI 196)d.

®I6Y EIBOSAMIGIT BN N8, AHMIB:UB af)AD) (AIAIBDHM A0S I, ?

(A) gets() (B) Putchar()

6P BOS)AHITIHNMNAUWOS CalOVYY®E> ©

(A) oseleantem  eLIM®»UWB  DalcoUile] &MURS0HUB  ®edlenss

@yvoallmlaamImows] @RMERINY)  AUlUNENGO8 awledlgod

MUnenegoio @ilalajlo 20QIAN Dald@6Mo.

(B) eouomalrla®  awipomlenasmiss  Mellens,  alodeelay

@ROLIBIG Baigleedd Alunen®ud aimo@edlollaleeam ale:0emo.

ealelleng age®eslel)e 06Me) 1}TMETIBUB ag) 9)® ).
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24.

25.

26.

27.

28.

29.

30.

31.

32.

PART - 111

Answer any 8 questions from 24 to 35. Each carries 3 scores.

Name the following :
(A) A first Generation computer
(B) Technology used in First Generation Computers

(C) Language used in First Generation Computers
Write short note on :

(A) ASCII

(B) EBCDIC

(C) Unicode

List any three types of Language Processors.

List any three advantages of Flowcharts.

What do you mean by literals in C++ ? Name any two types of literals.

Name any three fundamental data types used in C++.

What do you mean by jump statements in C++ ? List any two.

Explain about any three array operations in C++.

Name the following :

(A) Character used to delimit the string in memory.

(B) The header file used for including getchar() function.

(C) The function used to input the string “Sachin Tendulkar”

whitespaces in between.

FY-866 8
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25.

26.

27.

28.

29.

30.

31.

32.

PART - 111
24 2)®@3 35 QAIOHOWIBS aBOGBIEN af)g GaloBIBUIES DTNV af)WLM)d:.
3 capod afl@o. 8 x3=24)

@I BHIS)AHGHNANAUWIOS CalOOOIE)d.
(A) 80800 ®EIMO &0 NSA
(B) &amoo ®eIm0 &:miRsolad 9alcouilafloym quocem@ila aillay

(C) 8aMo0 ®EeIN0 &HMIRS0IT3 DalcWoUlaflo)m @daH

eleel) aflaloemo af)9)m)d:
(A) ASCII
(B) EBCDIC
(C) Unicode

2N’ L100CNIER HRIOTVIRO)DHBOS GalOOP)E)D.
G002 1005)BHBIOS aBO@HILI0 MAN NJENEBUB af) F)O)H.

Ct+ @@ elgoen®dd  «)MIeRID  2aRO@BILNH M) GO
CalOO®)®)D>

C++ oLl ao®®ilene MmN @OSITLOIM AOQ HOSA[IBBIOS CalOOYI® ).

CH+ @8 @i’ equgRadiddd af)MIGLIM  ?2a@O@ESILIe E6MBENGTONE
CalOO9)O))b.

CH++ oLl ao®®slene MmN @REO Ba]E0aHM®eS algl AllaIdlee)d.

@369 B3OS)AHITNHNMNAUDOS CalOHQE)D)D>

(A) e20dloldd @ylesland avadgflow avjailaflaman adleilalgd

(B) getchar() a0®:0408 9036 |S)THONE QalEWIUIENAM HEOWALE oNWE3

(C)  “Sachin Tendulkar” ag)am (MGlot) ©OQIQ CAVREAVIS) DS NBal)g @RV
a{lea:@1e008 DalcOUT BN aN8HaH(B
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33.

34.

35.

36.

37.

38.

39.

Explain any three merits of modular programming.
Explain about any three unguided (wireless) medium of communication.
Explain the following terms :
(A) Computer Virus
(B) Hacking
(C) Phishing
PART -1V

Answer any 2 questions from 36 to 39. Each carries S scores. (2x5=10)
(A) Name any two methods of representing integers in a computer
(B) Draw the following gates :

(i) Logical OR

(i1) Logical AND

(iii) Logical NOT Gate
What do you mean by E-Waste ? Explain any three methods of disposing E-Waste.

Briefly explain different phases of Programming.

What do you mean by Network topology ? Explain any three.
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34.

35.

36.

37.

38.

39.

C2OAW)LI8 G IW0AlEHOG aBO@ERI0 MM 1)EMEBUB AllaICle)D .

@R U0 2VETIMEBS aBO@B:LNe M)AN @3 HOWALA (AUDAOHLIGY)
20W26t36S aldl allaidlee)d.

@089 OISO ABHNAN alB3603U3 AllQIClEN@: :
(A) ®muysd eaqioay
(B) a0006len’

(C©)  afladlowy

PART -1V
36 2)®@3 39 AUHOWBB aBODEIEN 0 NE GaloB §EIBUIEN DMV af) Y}M)D:.
5 eapod afloo. 2x5=10)

(A) @muysolmd  an@apavealidegd  M)allafleeaiom  Dalec@ouilenman
aRBOMB:LN0 V6NE) NOBUTBBINS Cal® af)9Y®)d:.
(B) ©0619 63:0S)0m@1E6)N CUNQLHUB QAUODD)d>.
(i) cen=lencd OR
(i) cen=loncd AND
(i) cen=loaod NOT

gD CAITY af)MOSOLITD ? gD GAIqY FIB2RRMAETIM  ago®®slene man’
20@WetBUB AflIG86)@>.
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